&\‘IV/‘ Spare parts for:
AN
2 Pizza ovens

Suitable for;

SIT

This catalogue is automatically generated.
Therefore, the sequence of the items might
not be always shown at best.

Updates will be issued in case of additions
and/or amendments.

Suitable universal spare parts may not be included

Rel. 2015-01221006




Uy SIT

Suitable for: Suitable for:
Cables for piezo igniters

3001019 IGNITION LEAD 1000 mm 3001018  IGNITION LEAD 600 mm
with faston ¢ 2.4 mm for ignition with faston @ 2.4 mm for ignition
with faston @ 2.4 mm for electrode with faston @ 4 mm for electrode
e R A AR e e R
e e

SIT 0.028512 SIT 0.028.509 SIT 0.028.521

Electrical gas valves and accessories

3526300 VALVE 820 NOVAmV ¢ 1/2"FF 3526270  VALVE820 NOVA EXTENSION
inlet @ 1/2"F - outlet ¢ 1/2"F D shaft @ 10x8 mm
thermocouple fitting M9x1
maximum gas inlet pressure 60 mbar
outlet pressure range setting
outlet 5+50 mbar
room temperature 0--70°C
double wire thermopile power supply
(TPTH - TH terminal)
thermostat connection (TPTH - TH terminal)
suitable to replace the ITT valve
UB67 model

SIT 0.820.301 SIT
3526077 ELBOW FLANGE ¢ 1/2"F 3526078 ELBOW FLANGE o 3/4"F
complete with screws and 0-Ring complete with screws and 0-Ring
for valves SIT 820-Honeywell V4400-V4600-VR4605P for valves SIT 820-Honeywell V4400-V4600-VR4605P

l S/
SIT 0.906.260 SIT 0.906.258

5047586 EXTENSION FOR VALVE 820 NOVA 3526124  KNOB EXTENSION LENGTH 65 mm
D-shaped pin ¢ 10x8 mm for VALVE 820 NOVA-824 NOVASIT

SIT 0.999.957



SIT %

Suitable for: Suitable for:

3182008 MAGNETICUNIT SIT 3020083 NUT&OLIVEg4mm
o head 35 mm - ¢ end 20 mm - length 47 mm
for valve SIT NOVASIT 820

SIT 0.006.245 SIT 0.958.030

3020084 NUT&OLIVEg 6 mm 3001008  PIEZO IGNITER

a ¢ 14 mm hole is required for the assembly
faston M ¢ 2.4 mm

SIT 0.958.031 SIT 0.073.953
3526075 STRAIGHT FLANGE ¢ 1/2" 3526076  STRAIGHT FLANGE ¢ 3/4"

complete with screws and 0-Ring complete with screws and 0-Ring

for valves SIT 820-Honeywell V4400-V4600-VR4605P for valves SIT 820-Honeywell V4400-V4600-VR4605P

17,

SIT 0.906.261 SIT 0.906.259

3440200 TWIN LEAD THERMOPILEg 9x65 mm 5012595  VALVE EXTENSION 820 NOVA
cable length 580 mm - with coupling M11X1 D-shaped pin @ 6x4.6 mm

SIT 0.240.002 SIT 0.940.002

3526096 VALVE MICROSWITCH
maximum load 0.2 A
for VALVE ELETTROSIT-820 NOVA-824 NOVASIT

SIT 0.927.012



/

\){ /(‘
i SIT

Suitable for: Suitable for:

3526104 VALVE 830 TANDEM ¢ 1/2"FF 3526142 DOUBLE COIL FOR VALVE
inlet ¢ 1/2"F - outlet o 1/2"F 220V 50Hz
maximum gas inlet pressure 60 mbar for VALVE 830 TANDEM-836 TANDEM
outlet pressure adjustment range
350 mbar
with slow start
room temperature 0-+-60°C
power supply 230V 50Hz

SIT 0.830.034 SIT 0.967.090

3020083 NUT&OLIVEg4mm 3020084 NUT&OLIVEg 6 mm

e mnm‘.m.mnl ] e
: ; ! l JH‘ i

SIT 0.958.030 SIT 0.958.031

3348041 PIPEOLIVEg 16 mm
for model PEL 23

SIT 0.957.008

3526141 VALVE 830 TANDEM ¢ 1/2"FF 3526142  DOUBLE COIL FOR VALVE
inlet ¢ 1/2"F - outlet 9 1/2"F 220V 50Hz
thermocouple fitting M10x1 for VALVE 830 TANDEM-836 TANDEM
maximum gas inlet pressure 60 mbar
outlet gas pressure setting range3+50 mbar
room temperature 0--60°C
power supply 230V 50Hz

SIT 0.830.040 SIT 0.967.090

3020083 NUT&OLIVEg4mm 3020084 NUT&OLIVEg 6 mm

ey l‘l’l’.l'lflil‘l!tl -
SIT 0.958.030 SIT 0.958.031




Suitable for:

SIT %

Suitable for:

3348041 PIPEOLIVEg 16 mm
for model PEL 23
SIT 0.957.008
3526140 VALVE 836 TANDEM o 1/2"FF 3526142 DOUBLE COIL FOR VALVE
inlet @ 1/2"F - outlet 0 1/2"F 220V 50Hz
maximum gas inlet pressure 60 mbar for VALVE 830 TANDEM-836 TANDEM
max.gas outlet pressure adjustment range 7+-50 mbar
outlet gas pressure setting range min.2+-45 mbar
room temperature 0-+-60°C
power supply 230V 30A rectified
SIT 0.836.010 SIT 0.967.090
3526143 MODULATOR COIL 3020083 NUT&OLIVEg4mm
220V rectified
for VALVE 836 TANDEM
SIT 0.967.135 SIT 0.958.030
3020084 NUT&OLIVEg 6 mm 3348041 PIPEOLIVEg 16 mm
for model PEL 23
g T
SIT 0.958.031 SIT 0.957.008
Electronic boxes
3091012 CONTROLBOX 503 EDF FOR TANDEM

SIT 0.503.003

model SIT - 220/240V 50/60Hz 7VA




&

SIT
Suitable for: Suitable for:
Pilot burners and accessories

3020199 THREE-FLAME PILOT BURNER SIT 3020077  FITTINGFORPIPEg 4 mm

supplied without sparking plug, nozzle and gasket thread M10x1
SIT 0.190.603 SIT 0.958.013
3020085 FITTING FOR SPARKING PLUG FIXING M10x1 3020200 FITTING FOR THERMOCOUPLE ¢ 6.5 mm

thread M10x1
SIT 0.974.037 SIT 0.974.036
3020541 NOZZLEFORPILOT BURNER 0.35mm 3020083 NUT&OLIVEg4mm
SIT 0.977.125 SIT 0.958.030
3020084 NUT&OLIVEg6mm 3020111 OLIVEFOR 4 mm o PIPE
e | |f¢"r‘|im'|ul UI
SIT 0.958.031 SIT 0.957.014
3020112 OLIVEFOR6 mm o PIPE 3020557
Lot ]

SIT 0.957.015 SIT 0.977.156
3020157 PILOTJET90.25mm 3020040

SIT 0.977.123

SIT 0.977.122




SIT

Suitable for: Suitable for:

3020041 PILOTJET 6 0.41 mm 3020187  PILOTNOZZLE ¢ 0.51 mm

SIT 0.977.118 SIT 0.977.119

3020078 PIPEFITTINGg 6 mm 3020060 SPARKING PLUG ROUND ¢ 7x44 mm
thread M10x1 faston M 4x1 mm
overall length 82 mm
model CB505/021 Junkers
for model P502F

SIT 0.958.011 SIT 0.915.015 SIT 0.915.024

3020365 SPARKING PLUG ROUND o 7x44 mm

connection @ 2.4 mm
overall length 52 mm

i & i ,(_
SIT 0915.025
Thermocouples and accessories
3440038 THERMOCOUPLE SIT M9x1120 cm 3440838 THERMOCOUPLE SIT M9x1120 cm - 10 PCS
G| comcis B s
SIT G1040209 SIT 0,200,019 SIT G1040209 SIT 0.200.019
3440036 THERMOCOUPLE SIT M9x1 85 cm. 3440836 THERMOCOUPLE SIT M9x1 85 cm - 10 PCS

SIT 0.200.013 SIT 0.290.017 SIT 0.200.013 SIT 0.290.017



The data herewith contained may change without notice and LF SpA cannot be
held responsible for possible errors stated or resulting by the use of this document.
All rights reserved. No part of this publication may be reproduced without written

permission by LF SpA.

Distributing Components, Spare Parts & Accessories
in original quality worldwide

LF SpA HEADQUARTERS

via Voltri, 80 - 47522 Cesena (FC) ITALY

Tel. +390547 34 11 11 - Fax +390547 34 1110

www Ifricambi724.it - www.lfricambi724.mobi - info@lfricambi.it
Export Dept.: Tel.+39 0547 34 11 50 - Fax: +390547 34 11 55
www.lfspareparts724.com - www.lfspareparts724.mobi
export@lfspareparts.com

EPGC Sas FRANCE

13, Rue des Forts - 59960 Neuville en Ferrain
Tel. +33 (0)3 2025 06 21
Fax+33(0)320253412

WWW.epgc.com

www.epgc724.mobi

epgc@epgc.com

LF GmbH GERMANY

Junkersstrasse, 1 - D-82178 Puchheim - Miinchen
Tel. +49 89 8945 78 66

Fax+498989457888

www.lfersatzteile724.de
www.lfersatzteile724.mobi
info@lfersatzteile.de

LF China REPUBLIC OF CHINA

Room 403, No.2, Huadu Mansion, Lane 422, Huanghua Rd.
Minhang Dist. - 201103 Shanghai

Tel. +86 (0)21 33 5366 31

Fax+86 (0)2133 53 66 32

www.lfspareparts724.com

www.lfspareparts724.mobi

china@lfspareparts.com

@ oooLrrussianFEDERATION

Ul. Anatoliya Zhivova, 8 - office 1- 123100 Moscow
Tel. +7 4992598575

Fax+7 4957252653

www.Ifspareparts724.ru
www.lfspareparts724.mobi

info@lfspareparts.ru

LF Repuestos Horeca 5.L.U. SPAIN

Calle Ciudad Real, 10 - 45517 Escalonilla - Toledo
Tel. +34 91477 91 00

Fax +34 914779081
www.lfrepuestos-horeca724.es
www.lfrepuestos724.mobi
info@lfrepuestos.es

LF SpA Cesena (IT) Swiss Branch Steinhausen SWITZERLAND
Sennweidstrasse, 45 - CH-6312 Steinhausen

Tel. +41(0)41 760 15 80-1

Fax+41(0)41 760 15 85

www.lfersatzteile724.ch

www.lfersatzteilech724.mobi

info@lfersatzteile.ch

LF Spare Parts Ltd. UNITED KINGDOM

A10a Lakeside Business Park, Broadway Lane
South Cerney, Gloucestershire GL7 5XL

Tel. +44(0)1285 86 16 25

Fax +44 (01285 86 39 49
www.lfspareparts724.co.uk
www.Ifspareparts724.mobi
info@lfspareparts.co.uk

AUSTRALIA AND NEW ZEALAND
www Ifspareparts724.com
andrea.calvio@|fspareparts.com

AUSTRIA
www Ifspareparts724.at
ludwig.neier@lferstazteile at

BALKAN COUNTRIES
www Ifspareparts724.com
matija.ramov@lfspareparts.com

BALTIC COUNTRIES
www Ifspareparts724.com
inarasilina@lfspareparts.com

CENTRAL AND EASTERN EUROPE
www Ifspareparts724.cz
jiri kremla@lfspareparts.cz

DENMARK
www.Ifspareparts724.dk
michael leth@|fspareparts.com

SOUTH KOREA
wwwlfspareparts724.com
fabio.doni@lfspareparts.com

TURKEY
www lfyedekparca724.com
basar.ergun@lfyedekparca.com

USA AND CANADA
www.lfspareparts724.us
sauro.dallaglio@lfspareparts.us
howard truitt@lfspareparts.us



	<T2
	<T2
	<T2
	<T2
	<T2

